Lydia Space Saver Bathroom Cabinet
CF7002

=N

N
A

RSN




PART LIST

&

Front Top Rail

&

Back Top Rail

7

Back Bottom Rail

1pcC

1pc

Up Fixed Shelf

Down Fixed Shelf

Right Side Panel

1pc

5

1pc

6

1pcC

N

Left Side Panel

Up Back Panel

S

Down Back Panel

7 1pc 8 1pc 9
Top Panel Shelf Panel Left Door
10 1pcC 11 1pcC 12 1pcC

Right Door

13

1pc




HARDWARE LIST

P >

Cam Lock @15*12mm Cam Bolt @6*42mm Wood Dowel @8*30mm
A | 16pcs B | 16pcs C | 10pcs
O\
M
& ) S
Bolt @6*25mm Screw @3*15mm Shelf Support  @6.5mm
D 4pcs E 26pcs F 4pcs

T

/\

Round Head Bolt

Knob ©29*27mm @5/32"*19mm Magnet L70*H12mm
G 2pcs H 2pcs I 1pc
7
g
Wall Anchor @8*38mm Screw @4*38mm Hook W40*38mm
J 2pcs K 2pcs L 2pcs
Screw @3*12mm Allen Key 4mm
M 4pcs N 1pc
EXTRA HARDWARE LIST
& AX2 = cx2 g g X3
ey, BX2 D X1 M X 1

ADDITIONAL TOOLS ( Not Provided)

Note: It is not recommended to use power tools during assembly. However a screw gun
can assist with mounting




Step 1. Attach Knob (G) to Doors (12 & 13) using Round Head Bolt (H) .
Attach Magnet (l) to Front Top Rail (1) using Screw (E) .

A A

@ : ©

The magnet need toward outside

<img \@%%/ ~ ©
Ex?2 I x1 Hx 2 Gx?2

Step 2. Fix Cam Bolt (B) to Side Panels (6 & 7) and Top Panel (10),as shown .

4 Bx 16




Step 3. Attach Back Bottom Rail (3) to Right Side Panel (6) using Wood Bolt (D) and Allen Key (N) .
Attach Top Rail (1 & 2 ) and shelf (4 & 5) to Right Side Panel (6) using Wood Dowel (C) and
Cam lock (A) .
NOTE: Do not fully tighten Cam locks at this time.

=

=

NS

point arrow on cal
lock toward

=
40
BN

Y

1/2 tum clockwise to fasten

& S
Cx4 Dx 2

=z

Nxl1

Step 4. Set Left Side Panel (7) into place using Wood Dowel (C),Bolt (D) and Cam lock (A) .
NOTE: Once Left Side Panel are in place, fully tighten all Cam locks.

point arrow on cal

NS

lock toward
adjacent hole

%0
xﬁ@
N

¥

1/2 tum clockwise to fasten

&
Cx4 Dx 2




Step 5. Set Top Panel (10) into place using Wood Dowel (C) and Cam lock (A) .

1/2 tum clockwise to fasten

Cx?2

Ex 24




Step 7. AttachHook (L) to Side Panels (6 & 7) using Screw (M) .

Mx 4

Step 8. Set Wood Door (12 & 13) into place .




Step 9. Drill two 11/32" holes where you want to secure your pantry .The hole should be at the same
height as the hole in the back panel (Part #8) of this unit . Tap Wall Anchor(J) into the hole .

Insert Screw (K) through Back Panel (8) into Wall Anchor (J).

Wall

Ny &7
Kx?2 ] x 2
Step 10. Attach Shelf Support (F) into the hole .Insert Shelf Panel (11) to place .
™
J
S*
S




